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1
SUonblr I 160000

2 ailuu{nn hu2tltut4tuh 1 120000

3 Ubpn qh u un r.nUop bU lr n r-u. qb n r'l m b r1u L1 ttt 1 I 120000

4 lnqbpulr 1 120000

5 lur urnr-U rJutrllrl {&nd 1 1 20000

6 ')ururnhunuLt 6,25 120000

7 bnud2unuLluU nbUu{un 1,25 120000

8 $frqQnrltn hnuhuuUqht 1 120000

a 1ur ur"nlru pu![ oqUult uU 5.5 100000

10 Fnrdpnqp 1 1 10000

11 SUmbu{un 0.5 1 10000

12 alurhbuunuuubm 0,5 100000

13 Qnnbudun 0.25 100000

14 tunhurnurn 1 1 10000

15 funhr.unurnh oqUuUutlt 1 95000

16 OdruLnuU nuLdnn 0.5 93300

17 Lrlrugunun 0.25 93300

18 f nrrltr.rpunun 0.5 93300

19 fUnouuurtr pbnnr-gdtuU ubqnUh huttlun 1 93300

20 Oru U urtr r-uqn nb ELbU un n u UnU!ry-nn 0.5 93300

21 .}nUuutt-ult 1 93300

22 .\uhruU _4:Rr 3 93300
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